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MT E X CTO D F #5575 [value,oril=max(odf, numLocal',6) THi /1 & 7=

ori = orientation (Aluminum -> xyz (mmm))

size: 1x 4
Bunge Euler angles in degree < Z OIS
phil Phi phi2 Inv.
341.192 0.0361972  18.9146 0
179.904 449611 180.075 0
144.73  44.9754  179.921 0
90.0612 36.1843 225.058 0
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volume(odf, ori, angle*degree) angle - 15
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MTEX-eulerfile

MTEX=txt [¥MTEXPluz—cube-gozz—brazs—copper¥ref¥MTEX¥Bunee_Euler_angles_in_deeree txt

Bunge Euler angles in degree

phit Phi phi2  Inv.
341.192 0.0361972 18.9146 0
179.904 449611 180.075 0
14473 449754 179.921
90.0612 36.1843 225.058 0

[=]

volume(odf, ori, angle*degree) angle - |15 Gale
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File Help

MTEX-eularfile

MTER=txt [¥MTE*FPlus—cube-gozs-brass—copper¥ref¥MTEX¥Bunge_Euler_angles_in_deeree txt

ori0=orientation.byEuler(341.192*degree,0.0361972"degree, 18.9146%degree, C5,55)
volume(odf,ori0,15*degree)

ori1=orientation_byEuler(179.904*degree 44 9611"degree, 180 075 degree,CS,S5)

I |volume(odf,ori1,15*degree)

| |ori2=orientation.byEuler(144.73*degree 44 9754%degree, 179.921"degree, CS5,55)
volume{odf,ori2, 15 degree)

ori3=orientation.byEuler(90.0612"degree, 36.1843 "degree, 225.058"degree, CS,55)
volume{odf,ori3, 15 degree)

0.0 0.0 0.0 (00 1)[100]

180.0 45.0 180.0 (0-11)[100]
144736 450 180.0 (0-11)211]
| |20.0 35.264 225.0 (-1-12)111]

ori0=orientation.byMiller([0 0 1],[1 0 0].CS,S3)
volume({odf,ori0,15*degree)
ori1=orientation_byMiller([0 -1 1],[1 0 0],CS,SS)
volume(odf,ori1,15*degree)

volume(odf, ori, angle*degree) angle - |15 Cale
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Bunge Euler amgles i degree¢

phil Phi phi? I

341.192 0.0361972 18.97146 0l

179.904 44 96711 180.075 0l

144 .73 44 .9754 179,921 0l

90.0612  36.1843  22b.0bL8 0l

oril=orientation.byEuler(341.192%degree,0.0361972%degree,18.9146%degrees ,CS,55) 1
volume(odf ,ori0,15%degree ]l
oril=orientation.byEuler(179.904%degree,44.9611xdegree,180.075%degree,CS,55) 1
volumel(odf,oril,15%degree] !l
oriZ=arientation.byEuler {144 . 73%degree, 44 .9754%degree ,179.92 1 %degree ,£5,55] 1
wolume(odf,ori2,1b%degree]l
ori3=arientation.byEuler(90.0612%degree,36.1843%degree,220.068%degree, (3,551
volume(odf ,ori3,15%xdegree )l

0.0 0.0 0.0 (00 1][1 0 U]¢
180.0 45.0 180.0 (0 -1 1311007
144,736 45.0 180.0 (0 -1 121 1]
80.0 3b.264 2260 (-1 -1 2)[1 1 1]
A

oril=orientation.byMiller([0 0 1],[7 0 0],C5,55).

wolume(odf,ori0,15%degree
oril=orientation.byMiller
wvolume(odf,oril,1b%degree

(
)
g 0-11],[1 00],C5,55)4
ori2:0riemtation.byMiIIerg
(
)

0 -1 1],[2 71 1],05,58)
-1 -1 2],[1 1 1],C5,58)!

volume(odf ,ori2,15%degree
orid=arientation.byMiller
volume(odf ,ori3,15%xdegree

1
| [EOF]
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cube= orientation_byMiller{[0 0 1],[1 0 0],C5,55)
volume(odf cube, 15*degree)

copper= orientation_byMiller([1 1 2],[-1 -1 1].CS,85)
volume(odf copper,15*degree)

brass= orientation.byMiller{[1 1 0],[1 -1 2].,C5,85)
volume(odf, brass, 15*degree)

goss= orientation_byMiller([1 1 0],[0 0 1],C3,85)
volume(odf,goss, 15 degree)

s= orientation_byMiller([1 3 2],[6 -4 3],C5,55)
volume(odf,s. 12 degree)

volume(odf, ori, angle*degree) angle - 15
@ Change eulerangle Max indexing 20 Calc
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